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The dual of the LPP

minimise z= 2x5+ 5x5, subject to the constrains Xp+x22, 2%, +x,+ 6x,<6, X;—xy+3xy=4,
X1, Xy, X320.

(A)
(B)
(©)

(D)

minimise z = 2w.l + 6w2 + 4w3, Sic wy + 2w2 +w,y=0, Wit wy,—wy<2, 6w, + 3w, <5,
Wy, Wy 20 and W, is unrestricted.

maximise z =2w, +6w2+4w3, S5:C wq+ 2w, + w3 =0, Wit wy—w,<2, 6w2+2w355,
wy, Wy 20 and Wy is unrestricted.

maximise z=2w, +6w,+4w,, S.C. Wy +2w, +wy =0, Wyt wy —w,<2, 6w, + 2w, <5,
Wy, Wy, wy =0,

None of the above

ST SsQTL b LS S s samaden Qmevweaws sremms

B&E () z=2%)+5x3, x;+x,22, 2x1 + 1+ 6136, x, —Xp+3x3=4, x;, x,, x320.

(A)

(B)

(©

(D)

LSééﬂ@ z=2w, +6w,+4w,, S.C. Wi+ 2w, + w, <0, Wi+ wy—w,s<2, 6w2+3w355,
Wi Wy 20 LODID wy is e ufereor @,

BUELm z=2w; +6w,+4w,, 5.C. Wy +2wy +ws<0, w, Wy —wW3=2, 6w, +2w,<5,
Wy, Wy 20 DmID wy is genLuleveor &M

LBL'JQu@ z=2w;+6w,+4w,, S.C. Wit2wy+wy=0, w, +wy—wy<2,
6w2+2w355, Wi, Wy, wy =0,

ggleena

The branch and bound algorithm is applied in :

(A)
(B)
(©)
(D)

pure integer programming problem
mixed integer programming problem
both pure and mixed integer programming problem

none of the above

Qrres-ueya(® SidsTAgibd TemLg) TEHE LWeTL®EsIECnTD ?

(A)
(B)
(©)
(D)

PU@@LWTeT W e SULs sarsdns,

QDS (P ere L samsdns

PY@wwrar LPMID Fobs P eram S L SE&E (S,
Qaeu og)bleena.
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Role of the Teacher in child-centred Education :
(A) Motivate children to learn
(B) Provide a suitable environment

(C) Become active member of the group

(D)  All of these

GYhdg wwws swefluler pdfuifar Liam

(A) BDPWIGEES WTE@TEUTSMmET 2a156 LU (HSISH60
(B) e&p5 shnéGRO® alssd

©)  Gwelar Qewau® e muleartss Sar S
(D) Gupsadlu jemandgid

77. Joyful Learning is based on the principles of Pedagogy which are entirely based on :

78.

(A) Activity-based learning (B) Child-centred learning
(C) Examination-centred learning (D) Both (A) and (B)

T FSluLer sHMHE TAILG ET EHRTL GTHS &S50 cums Cariur@semear
Sy LU WTES CSTarTLg).

(A) Gswe eufl sHme (B) ©GYwbms @wws sHme
(© GCsiiay ewws sHma (D) (A) LOmW (B) Qrear(Hid

Who is the founder of the Community School viewing the publication of ‘The Village
College” ?

(A) Ivan Illich » (B) Henry Morris
(C) John Dewey (D) Mahatma Gandhi

'8l eflvGagy sTCag’ eremy Qeuafien”iq e SlgUueLulle spsmul uetaflepws g
Wweedler Flmefwieur :

(A) Qeuren @evadls (B) GQamend Curflev
(C) g Gud (D) wargwr &rHs)

{ Turn Over
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79,

80.

81.

82.

The Sainik Schools are a system of schools in India Conceived in 1961 by :
(A) AK. Krishna Menon (B) J.K. Krishna Menon

(C) SK. Krishna Menon (D) V.K. Krishna Menon

Qbowredler 1961 @b <par® weald Ldrallasar eTem ueTefl iemwliLser
QameoLw sHaHd o meurang).

(A) AK. &lmegenr Gueren (B) JK. &lmegenr Guoemen

(C) SK. d(megent Guoeme (D) VK. &lmegenr Goeamen

Which Institute is the producer of Educational Television Programme for young children
between 5 and 11 year age group ?

(A) Central Institute of Educational Technology, New Delhi

(B)  Central Institute of Educational Technology, Karnataka

(C) Central Institute of Educational Technology, Andhra Pradesh
(D) Central Institute of Educational Technology, Tamil Nadu

Sawg s 11 euwg euenyulamer GREDHEEES s0els QsrarassT 8
Blar édsemar surféen Hmeued eTgI?

(A) s sdell B Lewu® Himeuan, Ugl Gleved

(B) wsdu soell mi Ledwe Hmeuep, STHIL&LD

(©) wiHu s06fl HIL L6 Fmeuenid, < bSTArCseid

(D) wsdlw siell mueflue Hmpeuard, sullr Br(H

Which of the following set is uncountable ?

(A) (1,49, 16,25, .. (B) {2n: neN}

<€) Q (D) all irrational numbers

& GeaTL SamIseTd eraneu CTERTERTHMH SETLD ?

(A) {1,4,9 16,25 ..} (B) {2n: neN}

() Q (D) erever edlflgwpmm eraraer

The binary expansion for a real number x uses only the digits :

(A) Oand -1 (B) Oand1 (C) Oand?2 (D) 0,1and 2
@) CuwCwer x g @mulg elfluréssding LwaTLBL Qwsskiser :

(A) Owpmwd -1  (B) 0 oMb 1 (€) 0 wpmw 2 (D) 0,1 womb 2
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1 1
The Lu.b of {TH‘L ™+ E/"T & T } is :

(A) m+n (B) w+1 (C) T+ (D)

1 /|
{'rr+1, Bk STt e } - &1 @GDhS Wlens ererena :

(A) m+n (B) w+1 - ©) 7t (D) o

If {Sn}n=1 is a Cauchy sequence of real numbers, then {S“}n=1 is :

(A) bounded (B) unbounded
(C) converges to1 (D) divergesto —

oo

{s"}n=1 TG @ &TEH Qemir erafled {S"}n=1 &1 UL Seug) :

(A) erevmesdELLILLg) (B) eTOMmO&GLULTSS)

(O emuEdng 1 (D) &lfleuanLdlpg — oo

The intersection of a finite number of open sets is an/a :

(A) closed set (B) not open set

(C) open set (D) none of these

RaH WPihoy aanailsmsuien 2 drer Snbg sarhsefien Ceul (h <eg @ :
(A) eplg SeTLD (B) Snésrs sawTid

Q) Smbs sewrd (D) Qeunled eraneuwjdlevency

The committee that suggested a system of multipurpose education at the secondary stage
was :

(A) Ramamurthi Committee (B) Tarachand Committee

(C) Hunters Committee (D) Hartog Committee

THes swlE Guered QeLfloe ameld uaCrréE soel wep
uflbgienrssliul L g)?

(A) @rmoepisd GW (B) smTEHS G

(C) ameLirev &P (D) amriLré G

{ Turn Over
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87.

88.

89.

90.

By the constitutional amendment of ‘Education” was placed on the concurrent

list.

(A) 1974 B) 1975 (C) 1976 (D) 1977
ATAmLLLE &L Hmessdeiy B0 Har(h ‘Hell Qamamsst]
Ul gwelled Cersasiiul Lg).

(A) 1974 (B) 1975 (C) 1976 (D) 1977

“No child below the age of 14 years shall be employed to work...” is mentioned in
of Indian constitution.

(A) Article 23 (B) Article 45

(C) Article 30 (D) Article 45 (A)

1 UWGISGLULL Thgs Ghesawud Lamudd SNDOTESEH Fal_Tg)...." eTenLS)
Qi rflwe sread Kiflefled @A LU Derarg;.

(A) sl udlfley 23 (B) elLulfey 45

(©) &l ddlfley 30 (D) slLubfley 45 (A)

NCERT in it's publication documents on, ‘Social, Moral and Spiritual values in Education
(1979)" has drawn up values to be inculcated through education.

(A) 90 (B) 84 (C) 45 (D) 36

NCERT 1979 <41b petriqed Geualludi L ‘sweduded seps, R(WP&5 LHMID <Y eaTSs
afl(pomigeT eramp LIS eflpumser soefufarn epaid CUTHEsLL b
GTENM CUDTWMISSS!.

(A) 90 (B) 84 (C) 45 (D) 36

Manpower planning is highly influenced by the pattern of

(A) Exportation (B) Importation

(C) Deportation (D) Migration

weafls 685 S LBl aums Ceweum’_iganmed <ifls B&E55DEeTeTTHng).
(A) gpmdl dauge (B) QnéEwd Gswgn

© Qs @asse 0 @Lbd Quuisa
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developed his theory of identical elements to explain transfer of learning.
(A) Pavlov (B) Guthire (C) Woodworth (D) Thorndike

— Tl EHPd wTHpsSeear dasGusHETE Gi5s &a.m) & el 6ot
Carliurligemen 2 (heursdleri.

(A) umeuGereu (B) @segwir Q) eyleufg (D) srienenL_&
involves higher order cognition in the interpretation of sensory information.

(A) Tllusion (B) Perception

(C) Sensation (D) Hallucination

L& 2 a6y S&UOSEHEE elleTésd &(meudd GuwulL ofMsass
2 Lu@&ng.

A) dfiysari_é (B) yevensr &
(C) yeverr 2 awriey (D) @QeQummer srié)
[ Problem solving ability improves with age.

II.  This improves in terms of both speed and accuracy.
(A) Iis correct, II is wrong (B) Tand Il are wrong

(C) IIis correct, I is wrong (D) Tand II are correct

L Slssd Eis@b dpern euwg sTihg euetidd) SieLwb.

I @Qeuauaniédl Geusld wHMID Foelwid Geveu QraRTIE QI BEDLOW|LD.
(A) Isflurer udled I geupreng (B) 1 OMWL 1T geuprer ude

(@) Teflwrer udled [ geuprengy (D) 1 wpmbd I #Mwren udle

Trial and Error theory was given by :
(A) Ivan Pavlov (B) Edward L. Thorndike

(C) Skinner (D) Hull
Ywery seuhl QsTarensmw eupridlueur :
(A) @eurer ureuGemey (B) erieuil 6réb. sriemenL s

(C) evdleweni (D) amé

{ Turn Over
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95.

96.

97.

98.

Ebbinghaus experiment is related to :

(A) Curve of memory (B) Curve of forgetting

(€) Curve of learning (D) None of the above
erlmsretlen Cerganar eTaL e QeTL e wg?

(A)  Hlenana| cuemeray (B) wmdl cuemaray

(C) sDHDO cuameTa (D) Qeeu ergleyld @eenen

Let A= [l 1J\7’neN then UA isa/ an:
n

n=1
(A) open set (B) closed set

(C) not closed set (D) none of these
A= [-1—, 1]VrleN T @ (mUdlen erevenm @uich erefmenfln@D Uz;\ GTEILIG 6(T / GRif :
n n=

(A) Snbs sewrid (B) epigl SewTd
(€) Pyl SERTLODE (D) Qeupiled eTgieylerene

If A; and A, are connected subsets of a metric space M then A UA, is connected if :
(A) AVA,=0 (B) AnA,=M ) ANA,=D (D) A;nA,=D

M eremm Gl fls Gevafludler A; A, eramuen Qaamssliul L o | sarkisar Cog
A|UA, LI @QEaTSSLILIL L. ST 6Tad :

(A) AUA=®  (B) APA=M (O APA,=D (D) A;nAzD

Every bounded sequence has a limit point is known as :
(A) Heine Borel theorem (B) Bolzano weierstrass

(C) Rolle’s theorem (D) None of these
gaaumm sréenawidrar QFTL B @b crawmet Ldrallenw QupHmEED eramug
(A) Qamulder Gurred CoHmLd (B) CGureerCGerm GQeulieviav Cabmid

(C) Ggredlenr Cammid (D) @eumdled ergayderene



99.

100.

101.

www.kalvisolai.com

31 13PG-03

Let f be a continuous real - valued function on the closed bounded interval [a, b]. If f(x)
exists for all x in (a, b) then there is some point.

(A) ceg(a, b) where f'(c)#0 (B) ce(a, b] where f'(c)=0

(C) ce(a, b) where f'(c)#0 (D) ce(a, b) where f'(c)=0

[a, b] eremmm epigui eumbLerLw @ent Geuaflufled £ ereugy e Ggmiréflwurer Qo
wHlyeLw &y (a, b) - @ erévevr (x) LHULEED eTar f/(x) QmHHETD DmIE
G m&@W Yererf

(A) ce(a, b) @EE f(Q)20 (B) ce(a, b] @i f(c)=0

(C) ce(a, b) @mu f'(c)#0 (D) ce(a, b) @@ f'(c)=0

x
If fis continuous on the closed bounded interval [a, b] and if F(x)= _[f (t)dt, (a=<x <b)
a

then :
(A) Fx)=flx);(@=x=<Db) (B) Fx)=f'(x);(@asx=<b)
(C) F@)=flx); (@<x<b) (D) FR)=f'(x);(@<x=<b)

[a, b] eTamp epipw eupbyerw @QentGleuafludied feremug) g Qsrii smiy Guaib

F(x)=Jf(t)dt, @<x=b) gofle

(A) F()=fx);(a=<x=Db) (B) F®)=f'(x);(@a=x=<b)
(€©) F)=fx); (@a<x<b) (D) Fx)=f(x);@=x=<b)
Solution the transportation problem is :
To
A B C
I | 50 30 220 |1
E m| o 45 170
® m|250 200 50 |4
1 2 2
(A) 820 (B) 820+ 250¢ (C) 250+ 820e (D) 250
& ssam CUTEGaUTSE sasdlen Sie) yang) :
To
A B C
I| 50 30 220 |1
E m|o 45 170
" m|250 200 50 |4
4 2 2
(A) 820 (B) 820+ 250e (C) 250+ 820¢ (D) 250

{ Turn Over
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102.

103.

104.

The expected outcome per play when players follow their optimal strategy is called :

(A) Value of the game (B) Optimal strategy

(C) Pure strategy (D) None of the above

eflenamurl_LrerirEeT sriser e 2 &b oSSl GeTupmkisTD THITLMT &GS 8019 W
aflemerwr(® GQeueflurl @ :

(A)  eflenemuiri_igen wy (B) ©@M&Garer 2 54

©€) ©ss 258 (D) @ Gglldeme

The principal actors of queing models are :
(A) Customers

(B) Servers

(C) Customers and Servers

(D) None of the above

R RYE eflas deraasuier WPsHwLre aumUaITEET :
(A) eumg&ensuimeri

(B) Ceeneu GQewiLeur

(O) eurgsmswrert wHmbd Csemeu QeuiLeur

(D) Qeeu egiblovena

Trains arrive at the yard in every 15 minutes and the service time is 33 minutes. The line
capacity of the yard is 4 trains, then the probability that yard is empty is :

(A) 0.237 (B) 0.00237 (C) 0.000237 (D) 0.0237

@@ e floawsdne 15 HULEHDEG @@ won Tuld ey s aumdeaman.
250 Gsmeu Geww 33 Al ks %Ang. Coaib Hoawusddo 4 Tudlevss(eméia
Cwe HlhusnE QLlivma eramre Haowusded b o Tudlerasemd @damioe
Qmuugnster Hlar s66,.

(A) 0.237 (B) 0.00237 (C) 0.000237 (D) 0.0237
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The main decisions in inventory controls are :
(A) The size of the order placed

(B) The time of placing the order

(C) The size and time of placing the order
(D) None of the above

R FT&S MUY sansdlan Sieurarg, :

(A) Qummeflen gmelliy syemaruden sjerey

(B) Gummeflen smedliiy <yamammuden Gy

(C) Qureflen smedlLiy c%smmuﬁlm <jeme| whmid Crywn
) Qe ergiaSaena.

Sylow’s theorem is not the converse of Lagrange’s theorem :

(A) True (B) False

(C) Not comparable (D) Not defined yet

wsGareilar Ceppib Cearmerdls Coppsder Lmsma Qeveme erenm sampm
(A) 2 eaweno (B) saum

©) @ulLssssz00 (D) Qseuey euamrumssLILLeldame

If L is a finite extension of F and k is a subfield of L which contains F, then :

(A) [F:K]|[L:F] (B) [k:F]|[L:K]

(C) [k:F]|[L:F (D) None of these

L eremug F e pigeymy SUluirseyid, k eraimug) L e 2 L seniorseyib S mUuden :
(A) [F:K][[L:F] (B) [k:F]|[L:K]

(C) [k:F]|[L:F] (D) @bl ergieyderenan

A complex number is said to be an algebraic number if it is :
(A) algebraic over field of real numbers

(B) algebraic over field of irrational numbers

(C) algebraic over field of rational numbers

(D) None of these

@ QWLmer erarr DM e e URUSHE 3G

(A) CuuQuarseiar sersfen 18g1 ipLLTs G)mes Ceuam@Lb.

(B) dlgwpnr aansafar sagden Bg ipwwors @més Caamn@ib.
©) eidlsypn aansellen sagden 5 ipwrs G)mes Couamr(Hid.
(D) @dle ergiajforene

{ Turn Over
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109.

110.

111.

112.

The order of the elements a, a~1eG are n and k, then :

(A) n=k=0 (B) nzk

(C) n=k (D) all of these

a, a~1eG eramp @ 2 muysaflen auflans pedmCuw n wHML k, erefled :
(A) n=k=0 (B) nzk

(C) n=k (D) Qemeu eTSFID

Any normal extension k is :

(A) a finite extension of F

(B) the splitting field of some polynomial over F

(C) both (A) and (B)

(D) None of these

g Qe BUSA k wyb @ :

(A) Fer Bg qeim fél

B) gCsr gm udamliLé Carasuuder Geré@b Geuefl F e gy
(© (&) yd (B) yod

(D) @bl ergia|bldvena

The general assembly of the UNO proclaimed 1974 as the ‘
(A) World Integration Year (B) World Environment Year

(C) World Population Year (D) World Education Year
vererm(h dalLenwliy prihsefler Curgsamu 1974 b 6T igeneT
e sidledlszs.

(A) 208 DO a6 (B) 208 sOOIEGLD Wl

(C) 28 wsser Agrens yar®h (D) 28 s6ll e[

Learner Controlled Instruction (LCI) was developed by

(A) Robert Mager (B) B.F. Skinner

(C) Sydney L. Pressey (D) Norman A. Cowder

sHCGurt s_Guur_® sn9ss0 wenm (LCI) GTETUGUTTE 2 (HeuT&HSULILL ).
(A) @rrurl Cusr (B) B.F. evdleimeuni

(C) é&llafl L. Yyeved (D) mriGwer A. Qaeri
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113. In the 19th Century the research by proclaims that in Bengal state of the 5 lakh

114.

115.

population only 4 women were literates.
(A) Chatterji (B) Rockfeller

(C) Adiseshaiah (D) Adam Smith

19 91 BIHHTERTIY Saursefler < uiefearuy eukisrar wrflogden 5
QoL s wasar Qsransudd 4 QuaTser LLHCwL soefwmlay QUi mHset eremm)
GOUELLUL PeTers).

(A) erligd (B) rr&Cuevenr

C) FCeamagwr (D) <L Ib eVl

"Book illusion’ is a figural illustration representing which one of the following :
(A) Split attention (B) Span of attention

(C) Division of attention (D) Fluctuation of attention

'Usss Sflyssri s o meu elerssiiuLib Gemeuauameupmier erseman @BlLILSTS
S ng|.

(A) uELY seuatbd (B) souan e&s

(C) seuar auELiy (D) seueam 2e156

‘Principle of Hedonism’ in Emotional development is a concept that concentrates on :

(A) Pleasant (B) Maturity

(C) Pedagogy (D) Achievement

wanbleupsél eueriéflude ‘QanL raflas Cam_Lr@)’ CTEND &(HSG) THEMET LOWILDTES
Carer® siemwdmns)?

(A) @aflenwo (B)  wpdlr&sl

©) sndssed ponser (D) <ieLey

{ Turn Over
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116. Let A and B be two events such that P(A) =P(A/B) =

117.

and P(B/A)= =. Then which one of

4 L
4 2
the following is false ?

(A) A and B are independent

® P(A/B)=;

() P(A/B)=

(D) P(A/B) =

o | W

A wpmib B eramm @Q(m Blar &8s Emas P(A)=P(A/B)=% wHm P(B/A)=—. erafle

N | =

1Yleteu(meueTeuHMIET 6Tg Seum?

(A) A womid B erenuer grym Hlar &lsar

(B) P(A/B)=

| W

(C) P(A/B) =

@) P(A/B) =3

A card is drawn from a well-shuffled pack of playing cards. The probability that it is either
a spade or an ace is :

3 4 15

17
(8) 1 ®) 13 © 3 =

BenE s@&EUULL . HEs 1960 @mbgl @0 FLO a@ssLuGHang. Sibs &0
@m wGu® b gav FLLTE Q(MmEs Har sa6 :

3 4 15 17

A 11 B) 13 © 5 D) =
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If F(x) is the distribution of the random variable x, then :
(A) —-1=F(x)=1 (B) 0=F(x)=1 (€) —=<F(x)<o (D) 0=F(x)<w

F(x) ereugy x eremm Foeumiiiy wrdludlesr ureued eriy erafe :

(A) —-1=F(x)=1 (B) O0sF(x)=1 (C) —w<F(x)<e (D) 0=<F(x)<w

Ae*/5 ;x 2,0
f(x)= . is a probability density function of a continuous random

0 otherwise

variable x, then the value of A is :

1 1
A — 3 (B) -5 © 3 (D) 5
£(x) Ae X3 . x 2,0 : 0 Q) . .. Al

x)= GTGITLIZ) X GTE0T T &0 eumy wrpluller Blasr &e&
0 HEDRAQID 8 e - e ey

2LTEHE ey erafléd A -er wdLi :

1 1
(A —3 B -5 © 3 (D) 5
For a Platykurtic curve, which one of the following is wrong ?

2

(A) By<3 (B)  ny <30* (© %<0 (D) 3 <uj

Gerr_iq&miigé (Platykurtic) euener cuanyé @ emeu(meuameummeT 6Tg) Seum?

(&) B<3 (B) 1y <30* (©) %<0 (D) uy <3

The third Indian National Congress (1887) Conference was held in :

(A) Delhi (B) Bombay (C) Chennai (D) Calcutta
epamreug) @pSlw Cosflw srrmdlyev (1887) Benl GQuHD @L b :
(A) Qreved (B) wbumw (C) Oeenenen (D) se&55T

{ Turn Over
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122,

123;

124.

125.

Who is popularly known as “Gangaikonda Cholan” ?
(A) Paranthaka I

(B) Rajaraja I

(C) Rajaraja II

(D) Rajendra I

“ahims CararL Campen” erar SmpésLGHUaT
(A) wsord urThges Camper

(B) wsord @Qrrerre Cerpen

Q) @rewrmd @rreyyrey Campan

(D) @pgerd QrrCondly Campen

Who won the Man of the Series title in 2013 ICC Champions trophy Cricket league ?

(A) M.S. Dhoni (B) Virat Kohli

(C) Shikhar Dhawan (D) Ravindra Jadeja

2013 ICC smbwen Carueu SfsGs. Qgr_fed Qsmi Brwser eflmg Qubmeur :
- (A) MS. Ggrafl (B) a&llyprl Gsmed

(©) oflai geuran (D) - yeipdly gCLggm

The article which provides special status to the state Jammu and Kashmir :
(A) Article 340 (B) Article 360 (C) Article 370 (D) Article 390

gp-sragbi wrflasdnE Anliy <ibsavg SefEGL rflue sreagden Gfey:
(A) 9fay 340 B) 9fay 360 (©) Gfey 370 (D) 9flay 390

NCTE stands for :

(A) National Council for Technical Education
(B) National Centre for Teacher Education
(C) National Council for Teacher Education
(D) National Centre for Technical Education
NCTE ereviug :

(A) National Council for Technical Education
(B) National Centre for Teacher Education
(C) National Council for Teacher Education
(D) National Centre for Technical Education
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If f(z)= 2~ SINZ then, z=0s :
3

z
(A) pole (B)  singularity
(C) removable singularity (D) isolated point
f(z2)=2 —;inz @, z=0 eTermLig) :

z

(A) simeuLd (B)  Amiiyls yeiraf]

Q) B&86 saiqw Apliyl yeref (D) safggieu Leraf

A rational function has no singularities other than :

(A) poles (B) zeros

(C) residues (D) none of these

ailflg srie @eneu sedly Goug sfluyls yeraflser Gaene :
(A)  g(meumIGET (B) yDHuikiseT

(C) erésmiseT (D) @8l ergieyferena

If f(z) = = then its Taylor’s series about z=1 is :
z

(A) 1-z+22-23+ . (B) 1+z+22+23+..
(O 1+(Ez-1)+(z—-1)2+(z-1)3+... (D) 1-(z—=1)+(z—1)2-(2—1)3+...

f@)=1 &6 z2=16r By QLiiwied oiifiay :
z

(A) 1-z+22-23+ . B) 1+z+22+z3+..
(©) 1+(Ez-1)+(z-1)2+(z-1)3+... (D) 1-(z-1)+(z=1)%—(z—1)3+...

If y,(t)=sint and Yo(f) =1—t are solutions of a second order differential equation, then the
Wronskian of y; and y, is :

(A) (t—1)cost+sint (B)  (t+1)cost+sint

(C) (t—1)cost—sint (D) (t+1)cost—sint

If y,(t) =sint LOWD yy(H)=1-t eremuan R @rewrLmd euflens UME&0 & (1pF
s g6 Sieyser eremfled, v, LOHMID y, sefler Fremendwien (Wronskian):

(A) (t—1)cost+sint (B)  (t+1)cost+sint

(C) (t—1)cost—sint (D) (t+1)cost—sint
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130. The solution of (xy?+x)dx+ (x?y+y)dy=0 is :

131.

132.

133.

(A) (Z+1)@y*+1)=c (B) (+1)(y+1)=c
(C) xZ+1=c(y?>+1) | (D) (x+3)=c(y+1)
(2 +x)dx + (Y2y +y)dy =0 e ey :

(A) (2+1)(y*+1)=c (B) (x+1(y+1)=c
(Q) *2+1=c(y®+1) (D) (x+3)=c(y+1)

Who wrote ‘The God of Small Things’ ?

(A) Arundhati Roy (B) Salman Rushdie

(C) R.K. Narayanan (D) K.R. Narayanan
‘The God of Small Things’ erenm mradlen p&lflwi :

(A) MBS TTL (B) &GLOTENT (Heigly.

(C) <7.Cs. BryTwIEHTET (D) Ca.yr. BIFTLIEHTET

When sodium chloride is added to water, the solution boils :

(A) exactly at 100°C (B) above 100°C

(C) below 100°C (D) at 0°C

Gemgwid GCerrerr® (2-LibGenan) Biled Cars@o Curg), smyseiien Gardblee :
(A) sflwre 100°C (B) 100°C &flL Hla&b

(C) 100°C &l @Gemmaey (D) eflwrs 0°C

NH 7 Connects :

(A) Delhi to Kanyakumari
(B) Kashmir to Kanyakumari
(C) Agra to Kanyakumari

(D) Varanasi to Kanyakumari

NH 7 Qeneumeiacunenn @eameamnssng :
(A) QLe) wpmb semaflwrgtoil

(B) &magSi LHMID Senetwm@Lof]

(C) <p&rT LHOID serefwrELfl

(D) eurgewrtdl O Seraflwun@oifl
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The youngest nominee for the nobel peace prize who popularly known for women'’s education
rights :

(A) Nur-ul-fatima (B) Malala
(C) Yasmin (D) Nur-ul-faritha

Cprue <iewwd ufiflpars s Qearb auwded LAbg@restul L Quar shed
2 flevwéars Mwtiu@ueurt

(A) mT - 2.60- urgSlom (B) wemer

(C) wmrevdler (D) mif-2_ e-o.ufigm

The East India Company of England got permission to trade in India during the period of :
(A) Shahjahan (B) Jahangir (C) Bahadur Shah (D) Aurangzeb

e Spsdpdu soueal wrmaLw o s srosdd @pdureisn auamilstb
Qe 2 feaweawts Qubhpeg?

(A)  agremsTen (B) manrmET Q) usgnm agm (D) geryrsEl

If Z(a) is the centralizer of a group G then v xeG :
(A) xa=e (B) ax=xa (C) axzxa (D) ax=1
R Gogden G ewwiorsdl Z(a) ereafled v xeG
(A) xa=e (B) ax=xa (C) axzxa (D) ax=1

1 2 38 4 1 2 3 4
Iff=(4 2 1 3) andg=(2 3 4 1]thenfogis:
(A) (2 3) B) (2 3,4) © (3412 (D) (1,32, 4)
1284 {1234 _ _
f=(4 21 3) Log)guu)g=(2 3 4 l)crczsﬂa)fog g2 (WF:
(A) (2, 3) (B) (2 3,4) © (G 41,2 (D) (1,3,2,4)
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138. Any subgroup of a cyclic group is :
(A) a normal group (B) a cyclic group
(C) a finite group (D) an abelian group
F587EGOSHE @eubleur(h 2 L GOWD (b :
(A) Que G (B) &&81& (GeD

Q) (yeymd G (D) <Sedlwen G

139. N is a normal subgroup of G then for every neN and geG.
(A) gng~leN . ® gNg =N
(C) NaNb=Nab (D) all of these
N erenmug) G eranmy @GosHan @uwied 2 L G erafled geubleumm neN, geG &@ELb.
(A) gng~leN (B) gNg~'=N |

(C) NaNb=Nab (D) @6 jemangg)d

140. Pick out the odd one from the following :
(A) F[] is an integral domain
(B) F[x] is a vector space
(C) F[x] is a principal ideal ring
(D) E[x] is not a group
Qaunmer QuTBHSTS @arand Csiey GElwa| :
(A) F[x] 6p(m 6TewT SiJmIGHD
(B) F[x] e GeusLir Geuar]
(C) Flx] @ (pseenng ETD UEnETILD

(D) F[x] eradtug) Geowea
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If the random variables X; are independent and all of them have the same distribution defined

)

. e 8 , — w<x<w; then the mean and variance of the distribution of

m

by f(x)=
X1—2X,+X; are respectively :
(A) —4and16 (B) 4 and 16 (C) 0and 24 (D) 0and 16

_ (x-1)?

: Sl B e ; :
Qurgleurar Ligeued f(x)= e 1T @<x<e 2L aGaims wmflsar X,

NE
EMTTESananio O&meniy (mbs Te X1=2X;+X; & gprefl Lpmib wss auidsn

wpenGuw :
(A) -4 wpmib16 (B) 4 oML 16 (C) 0 wHmib 24 (D) 0 wHmwb 16

If from the population with 25 members, a random sample without replacement of 3 members
is taken, then the number of all such samples is :

(A) 75 (B) 300 (C) 2300 (D) 15625

25 e gullentser Qaram, @ens CsT G Wb Beir@Ld LWETURSSTS auensulden
3 e pulertsemer 2 amLw &io UMIUYE sam er(B&sTe, DNoESMEW &am) & el ebr
erarentlGens :

(A) 75 (B) 300 (©) 2300 (D) 15625

- P[Type I error] means :

(A) Placcepting H, when Hj) is True]

(B) P[rejection of Hj, when H is True]

(C) Placcepting H, when H; is True]

(D) P[rejection of H, when H; is True]

Plepged auensls Wenyp) ufem Quimgpar :

(A) P[H, eflurs 2 erenGurg Hy & ahmié Clamerenge)
(B) P[H, sflwrs o crar Gurg Hy & Blrrafgse]

(©)  PH, eflurs o eer Gurg) Hy s TOME AsTaTEngd |
(D) P[H, eflwurs 2 drerGumgy H, g Blyrafgse]
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144.

145.

146.

If 2°-is a chi-square variate (derived from independent and identically distributed Standard
Normal Variates) with 10 degrees of freedom, then mean and variance are respectively :
(A) 5and 25 (B) 5and 10 (C) 10 and 10 (D) 10 and 20

sl igemend erawr 10 2 enL_w s T & eui&Es LIP (FTTUDD PSS LTeUmE
Caram. Guablow dir wrilledmbg umalssiul Lg) Wer syrafl wHmIb
AL alwgs aurssd wenpCw :

(A) 5 wpmwb 25 (B) 5 wmmwb 10 (C) 10 womib 10 (D) 10 wHMD 20

From the results displayed below in a one-way ANOVA table, the value of F is :

Source Sum of the squares | Degree of freedom
Between samples 100 2
Within samples 120 12 '
(A) 1.2 (B) 5 C 7.2 (D) 6

$Cp Qar@ésiul (erar @ eyl ANOVA oL euamanmuiid 2 6Ter (1piqeysEhéd
F-a &l :

eNl605:8 QUGS EUMBHET | UTHSHHGHETET T (HSHEV | HLIGETENLD CTETTH6

FaMIFEHEE Qe LILL L g : 100 2
Fo M FH@HEGET 2_aTerg) 120 12
(A) 1.2 (B) 5 (C) 7.2 (D) 6

The Legendre Polynomial P, (x) of degree n is given by :

A T 4" .5 n B) L —dn B 1)"
( ) 2n n! dt" (t + l) ( 2n . n! dtn

n ’ 2 n n d" 2 n
(C) 2%, N!F(t— -1) (D) 2 .H!F(t +1)

n b Uy Qeganr i (Legendre) Leva@ymiiiLg Careneu P, (x) eremuig) :

(A) 1 dn 2 1 n (B) 1 in_ (tz - 1)”
2"t 4" (" +1 2" . n! dt"
n n

() 2".n! % (2 = 1)* Dy 2".n! % {#* $4)"
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147. In ] (x) is the Bessel function of order n, then which of the following is false ?

(A) Jn(=0)=(=1)7,) B In(1)=3 [aa () + T 1 ()]

© Ed_[xn In()]=2"Ja_1(x) (@) xJh @) =—%Jns1(x)+ nln(x)
X

Ja(x) n-en L Quevevev &riy (function) erefed Der QUmeuareumHled erg,
SoUDTEG) ?

(A) To(=0=(=1)T,@ B In()= 5 [t () +Jgs1(2)

© %[xn;r\(x)]:xn;n_l(x) (D) xJn ()= =% Jn 4 1(x)+ nJn(x)
X

148. The n'" Hermite Polynomial is given by :

= i
nx? d

Al S b —n(exz) - (B) Ha(x)=(= l)ne—x2 dr:\ (e—xz) |

dx dx

__nxzﬁ —x? ~ =_n—x£ 2®
© Hyx) =1 (e ) ) Halx)= (-1 A )

x X

n eugl Gamientol (Hermite) LevgymiiLé Gareneu :

() Ha0 =1t fet) g Hy () = (- 1% L o)
dx™ dx"

f ﬂ(e—xz ) (D) Hp(x)=(=1)""" :—n(exz )

dx™ ok

(€) Hp(x)=(-1)%"
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149.

150.

The average salary of male employees in a firm was Rs. 520 and that of females was Rs. 420.
The mean salary of all the employees was Rs. 500. The percentage of male employees is :

(A) 20% (B) 60% (C) 80% (D) 40%

@ Hineuargdler o eter e Cgmflorafsafier srmefl eumwrend emLmii 520 LHmLD
Guarr Cgmflerafisafier syrefl aumwrand mumi 420. Qwrés Asrdrarisafen
syrefl eumorand grumi 500 erafles e Ggrfloraisaian sgeisw :

(A) 20% (B) 60% (C) 80% (D) 40%

The variance of first 13 natural numbers is :

(A) 12 (B) 13 € 14 (D) 15

WP3® 13 @Quisd eramaafien LFeupLIlg (Variance) :

(A) 12 (B) 13 (C) 14 (D) 15
-00o0-






